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Seat No.

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C321902

Subject Name: Material Science and Metallurgy

Time: 10.30 AM TO 12.00PM
Instructions:

1.

Attempt all questions.

Enrolment No.:

Date: 14-06-2017

Total Marks: 70

2, Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic,
No. | Question Text and Option. Y& al [Ascul.
Which Metal has the highest Melting Point

1. | A Iron B. Copper
C. Silver D. Alumininm
58 tld ol olclolg Ml R B 2

4. | A | el B. | 5luz
C | Rea D. | Ac@Ran

The ability of the material to be drawn into wire is known as

2. [A. Malleability B. Ductility

C. Hardness D. Toughness
Wlal dlR olotiel adotl wetdol ot o 58 8.

2. | A na@cé B. ssdl@él
C. sLéaal D. 2galal
Permeability is a property of material.

3. A. Thermal B. Mechanical
C. Magnetic D. Chemical
welgdell wiRouatcl ot eald KP

3. | A e B. | Q3ellse
C. | QoaRs D. 1 3Rsa

Total atom of F.C.C.unit cell is

4. |A. |2 B. 4
C. 6 D. 1
F.C.C.oll Y2 A Ui et wuoll dva 32l sla?

¥, | A 2 B. ¥
C. S D. &

Which one of the following is Secondary bond?

5. | A Dispersion bond B. Dipole bond
C. Hydrogen bond D. All of above
o{lA Hiall sell ol ollel & 2

L ) .
A ] Slauddet ol B. | siadld ol
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C. | slegloet vl D. | GuRell vuer [Aseu
Which one is a chemical property?
6. | A Strength B. acidity
C. dielectric strength D. lustre
56 3Msa Wudl &
5. | A | umed B. | al{lslél
Co lwrdly amed D. | uasie
Total number of atoms per unit cell in a BCC Structure.
7. [A. 1 B. |2
C. |3 D. |4
B.C.C.oll YMle Act 1l se uy ofl Avau decll laz
9. A | B. 12
C. |5 D. |y
Density of iron is
8. |A. [7.87 B. [8.96
C. [11.34 D. [8.90
Aluisell totell 8
A N ICWA B. |c¢.es
C. |qa.3¥ D. ]¢.eo
The percentage of carbon in cast iron is )
9. | A. 0.1to 0.5 B. 05to1
C. |1wls5 D. [15t67
5122 et 1L stofote] YRl sla §.
¢. | & |oa dlou B |oudla
C laallau D lquadl s
The lower critical point for all steel is .
10. [A. [ 600°C B. [700°C
C. [723°C D. [913°C
ol % Rl 1R AR (BElsd WSoe 8.
0. | A | 500 B. 1900
C. | 923 D. Jeas
The carbon content in steel containing 100% pearlite is
11. [A. [0.8% B. [0.025%
c. [17% D. [667%
% ¥ld 100% udise uAd dell 2ieR stolels] YmGL sla 8P
a. | A |0.¢ ¥ B. 0.0 g
C 1oy D. 1559y
Which of the following structure is observed by Metallurgical microscope?
12. | A Macrostructure B. microstructure
C. Atomic structure D. nanostructure
ulgsi{ls HBslslu ad sl @sARe] udlalel wa B?
qR.
A A8l gsuR B wssl 2gsu
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C | AARAs wsuR D. | el 25U
Addition of Copper in steel, increases its

13. [ A weldability B. toughness
C. tensile strength D. corrosion resistance
o Wl sluRe] YHIRL clreldl aud dl Rl Ul 8P

3. | A | AAE B.  |zsgalal
C. | cusd ol Soset WAAUsAL

Castironis a .

14. | A. ductile material B. elastic material
C. plastic material D. brittle material
s1e vl 8.

1y, | A | ssasd wildlaa B. | serdls uéldlaa
C s wildaa olect 1aldact
The Product of a Blast Furnace

15. | A Pig iron B. Steel
C. Wrought iron D. Cast iron
0AR2 $Rolda] Beuleot

u. | A | Rl auet B. | dla
C. ] A2 et sl et
Melting point of iron is °C

16. [A. 1131 B. |1712
C. |1539 D. |1601
wlelotoll AcdloL Wlée 8 2

s, | A 1434 L ERIE:

C. |quse 1501
Tungsten improves of steel.

17. | A. ductility B. corrosion resistance
C. weldability D. red hardness
éoRReat Wletoll 58 ollolcl YUR B?

9. [ A | dotell B 8lRloget wlQRluse
C | a’ddldlél EXETAPILS
In phase diagram, is on X-axis and is on Y axis.

18. | A. temperature, composition B. composition, temperature
C. time, temperature D. temperature, time
582 SLAAUHHL X ws5U UR el Y wsd UuR 8la B,

e, [ A | 2R uR, s1llofl et B. | s1Qloflatet, 21U AR
Co | auma, 2R 2IURAR, UM

FesC is popularly known as

19. | A. Pearlite B. Cementite
C. Austenite D. Ledeburite
welot-5L0085 (FesC) 58 ollost ottell AlHie Il Alovua 8

qe. :

A lyaise B. | RQawe
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Co | ulelsse D. | A3oyaise
Which of the following is a Surface Hardening Process
20. A Nitriding B. Annealing
C. Normalizing D. Tempering
olA HLell 56 U39 &3kl AU B
R0. Lssgl (3oL B. | QadoL
C. | alileus@oL 2R
The Carbon content in Steel is
21. | A Above 2% B. Upto 2%
C. Below 0.8% D. Above 6.3%
Wlal stolote Yyl B2
| A [yl auR B. 12z ydl
C. oz dlolA 6.3% ol arld
Brass is an alloy of
22. | A Copper & Tin B. Copper & Zinc
C. Copper & Nickel D. Copper & Aluminium
AT ofl st .
2. | A | SluR ual &let B lur wa s
C. | lurua [sae D. 1 sluR udd AcyMAan
During Heat Treatment Process the very drastic quench is achieved by the use of
23. | A Cold Water B. 0il
C. Brine D. Air
sdRloL sieatdl Wi Al e HiLaAH
3. | A g wal B | ulsa
C | aget D. s

Which of the following statements are true for annealing of steels?

24.

A Steels are heated from 500°C to 700° | B. Cooling is done slowly and steadily
C temperature
C. Internal stresses are relieved D all of the above

Wletotl Aollellot 1 ofl Aottruell s [@Qtutst

ULY B2

A lda 500°C 4l 700°C dlurisl B. ezl mal Hly g@ol sranu
Y.
DM SRCLHL wd 8. uld B
C. | So2elcl WU £2 WA D D. | Guaell dunt
Steel with carbon is known as hypo-eutectoid steel.
25. | A. 0.8% B. Greater than 0.8%
C Less than 0.8% D. None of above

sl 58S AL stolote{l estaldl of Yl

U | A 0.k B. lo.cx ol auR
C. |o.cx ol Ay D. | 88 ua o8l
The name of lens in microscope near the specimen is )

26. | A. | Eyepiece B. Collector lens
C. Objective D. None of above
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WBslRslUHL RUR A oifEsoll Ao olld 8.

6. | A | A B. | s@se? dAu
C. | 2oRsdla D. 1 Guret Asuel «18l
The magnification of metallurgical microscope is .

27. [A. [ below 20X B. [ 2000X to 20000X
C. above 20000X D. 20X to 2000X
tgstls ygresalsell Aoo(33aet war 8.

00, | A |20l ol3L B. [2000 YL 20,000
The heardest known material is

28. | A Ceramic B. High speed steel
C. Alloy steel D. Diamond
Aol uud tlg 58 B 2

. | A | RRARs B. lels alls ¥éla
C | Adla ¥la Dl siaus
If objective has magnification of 300X and eye-piece has magnification of 10X than the total

29 magnification of microscope is

“[A. [310X B. [3000X
C. [30X D. | 10X
B sdlaey Aoolli35aet 300X v v lde] NoollB3alot 10X 8l cll, HsslslU of
s Noo{l(33alet N
Re.
A. 13q0x B.  |3000Xx
C. l30x D. lqox

The magnification of eye piece is 20X and objective is 40X. The magnifications of
Metallurgical microscope will be

30-TA. 60X B. [2X
C. 800X D. [20X
sl el Nooll3atet 20 X B ual eBsdlaell 40 X B dl tlgsi{ls yereds ol
Noo{l(g¥elot A B,

30.

A | sox B. |2x
C. lcoox D. lz20x
Bauxite is the ore of

31. | Al copper B. aluminium
C. iron D. tin
dlsuese A ofl o B.

39.| A [ SR B. | AxMan
C. | et D. 1 Ret
Which material is used for making cooking utensils?

32. | A Stainless steel B. Aluminium
C. Cast iron D. Both A& B
ULl AR olotlaell HI2 53 H2RauE duRja 82

3R,

A RelAY Hle B. | AyfRan
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C. | sire welat D. | Aual B uial
Components of Bronze are

33. | A Copper & tin B. Copper & zinc
C. Copper & silver D. Copper & lead
ollods oll Y2 sl .

33. | A | sluR & élat B. | sluR & Als
C | lur & ReaR sluR & cls
C35 Mn75 steel has Carbon percentage.

34. [A. |35 B. |35
C. |075 D. |035
€35 Mn75 ¥l ML stolot of UL % B,

3%. | A 3.\ B. |3y
C. |o.ou 0.3u
Car body is generally made from

35. | A Cast iron B. Wrought iron
C. Stainless steel D. Mild steel
512 oll$l H2eudl W3l oletau 8.

3. [ A | s welet B. |3l welet
C. | RaAu ¥l D | uses ¥la
Cartridge brass has % Copper and % Zinc.

36. | A. | 70,30 B. 60,40
C. |30,70 D. |40,60
sLE3% el \ % clo] el % Als glal BP

35.|A 80,30 B. lg0,%0
C. 130,00 ¥0,50
Bronze is commonly used material for ___ .

37. | A bearing B. Pipes
C. sheet D. nut and bolt
lods A UM el o{lAstriall HL auRLe 8.

39. | A | Adla st
C. |alle ol2 ual ollce
Which of the following is an alloy of aluminum?

38. [ A Gun metal B. Y-alloy
C. Muntz metal D. Gilding metal
ol Aetmiell 56 APlan o Rsiug & »

3¢. | A | alel Ract B. | yadla
C. | yxiea D. | QXo Neet
For producing aircraft parts, is used.

39. | A. Duralumin B. Mangalium
C. Hindalium D. All of above
A 251520l ANl GAulEotHL ol Guallol e B

3¢. .

A | syt B. | Adlcllan
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C. | @3cllan D. | Gu oll st

4(). | German silver has % of silver.

A 1380 B. |20
C o 50
ool Ricaul % Rcclre] &laL .

¥o.| A |co B. 120
C o uo
Muntz metal contains copper zinc in ratio of

41. | A. | 40:60 B. 50:50
C. 20:80 D. 60:40
Yoos N2e Mi slu ual oflse] yuial deg 2

¥, ¥0:50 B.  |yomo
C. |00 50:¥0
35 C10 G has

42. | A 0.35% Carbon B. guaranteed hardenability
C. 1% Manganese D. all of above
35C10G Hl

¥2. | A 03wy stolet B. | at§alal ol widdl
Co ey Al GUR oll Gl %
Which of the following is an alloy of copper?

43. | A Brass B. High speed steel
C. Y-alloy D. Duralumin
o{lAsttmtell 586 sluell Msitug & .

¥3. (A fw B e afls ¥la
C. | yAda séAan
Bronze is an alloy of

44. | A. Copper and Zinc B. Aluminium and Zinc
C. Copper and Tin D. Aluminium and Tin
ol ofl B3ty .

¥y | A | sluR wa (s B AeyMan wa Bls
C. ] flur wua Rat D. | AcyARan ust Rt
Which product is not normally made from aluminium alloy?

45. | A Foil for packing B. Pressure cooker
C. Electrical wire D. Machine bed
o{lAnLefl 58 cxg UHoA ld AeyflRan Acllanill oetdl ot

. | A | Aol 1R glsa B. | JuR 582
C | saEgsa car Dl ugllet @s

is used as bearing metal.

46. | A, Gun metal B. Y-alloy
C. High speed steel D. Stainless steel

¥S. oll ARal Aec ¥ Gualol ala
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A, | ool el B. | vyAdla
C. e wdls ¥l ol ¥la
is hot a plastic material.

47. [A. [ABS B. |PVC
C HDPE D. | Cork

3 wéls Hedlac ol

¥o. | A [ Al An B. .l
C [Auflds 51§

Cermet is a material.

48. | A. Composite B. metallic
C. Plastic D. ceramic
sz A Heldlad B

e, | A | sdlose B. | Dadls
C | wdls Rls
Rubber is used mainly for manufacturing of

49. | A gasket B. fuel tank
C. O- ring D. tubes and tyres
200(201 Hlel @l Guallol ofl olollaeHl ala &

e, | A | ourde B. | wd 3s
Co | -Ra D | ey udt alarR

is used for making shaft and axle.

50. | A, Mild steel B. Medium carbon steel
C. High carbon steel D. Dead mild steel
5S ol WU lotlalall HIS oll Guallol L &

wo. | A | wuses @la B. | B siolet ¥a
C. e slol ¥la D. 1 3¥3s wses ¥lad
The Melting Point of Aluminium is

51. A  [500°C B 600 °C
C 660 °C D 780 °C
A lan of dcteldg 8.

ua. | A | woo % B. |00 %

C. |ssooc 90 °C
Compared to steel, aluminum has

52. | A, higher strength B. higher hardness
C. higher machinability D. low corrosion resistance
Wlaell AuuHelli Aeyyajan uRld 8

wR. | A | G Hyud® B. | G sdletcl
C. | as uallaelleldl Bleot stz u@AUsdl
For cooking utensils, is used.

53. A Duralumin B. Mangalium
C. Hindalium D. All of above

u3. | 2uSell cll™Bll oloilalell il duRLal 8.
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A | syt B. | Raleflan
C | B3ellan GLaL o
The percentage of Iron present in Pig Iron is
A 99.9% B. [90%
C. |95% D. |80%
(oL 2ot Hi vuElet ofl estaudl
wy. | A | ee.e B leoy
C. leuy D. | coy
Which among the following is an Organic Polymer
55. | A. Silica B. Plastic
C. Brass D. Porcelein
o{lA ealde il 5¢ w3lells Wluz 8
uu. RE@st B awdls
Clawt D. | Qiellet
56. | Which of the following is an amorphous material?
A. Cast Tron B. fron
C. Silver D. Glass
oll Aotimtell 53 HElIlact Axlée &2
us. | A | sie audet B. | elet
C | Rea AL
Reason for using non ferrous material is )
57. | A light weight B. good electrical conductivity
C. corrosion resistance D. all of above
ollot 3 Hedlauc of GUlol sRdle] 5121 8
wo. | A | aegelil e@ Bl wdl @yd cugsdl
C. | ste ulstesdl GUR oll sl %
is a thermo-plastic material.
58. | A Polystyrene B. Melamine
C. Urea formaldehyde D. Phenol formaldehyde
A adlweidls Héldlaa .
we. | A | dellreadle B | Reuuse
C | ydlaw slcsletss flollet sluicdlalss
Thermoplastics
59 A. can’t be reshaped. B. can be used at high temperature
" C is produced by addition D. has cross linked structure.
polymerization.
W Lélse]
A ] gdlell st otell wdll astdl B G diual arudl asta ®
ue.
C. | Adlaet WellisRast ad sl cllss w@esuR uRAd B
Haa B
60 Which among the following belongs to the class of Alloys
"| A. | Aluminium | B. | Plastics
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C. | Fire Bricks | D. [ Steel
oA ealdet Higll 5¢ Buid A213% vlavua &

so. | A | ARPAan B. 1 qiréls
C | star dlsa D | dla
Which of the following material is non-metallic?

61. .

A. Copper B. Silver
C. Steel D. ceramic
ol ealdat Higll 58 Hdllac uUd B.

sa. [ A | sluR B. | Reea?
C ¥l Rals
What is the full form of P.V.C?

62. | A. Polyvinyl chloride B. Polyvinyl chlorine
C. Polyvinyl calciam D. Polyvinyl cement
YLlAll of Y oltn o &2

s2. | A | WARsusd scllss B. | Q@Rsuse scluget
C | @Rsusa 3Ran WRALeuse ANe

is the semi-conductor of electricity.

63. | A. Wood B. Plastic

C. Silicon D. Rubber
A [QAgfcto] Ut cuss O.

s3.| A | auss B. | wqdls
C. | R@ASst 00(3
To reduce wear of the surface is used.

64. | A. lubricant B. Adhesive
C. Abrasive D. colour
AWl du eetsal M2 CUEOE)

s¥. | A | qollsee B. | AsgRa
C. |AdRa D. 1 saR
Which one of the following is not the purpose of electroplating?

65. | A. improve appearance B. protect against corrosion
C. rework worn out parts D. improve hardness
o{lAetiitell 58 cllutd sAs2l- WAL oll Geeal otell 2

sw. [ A | Bullat Yudl B. | el A sl
C | uadel ewdlleut 531 Guallal D atdaenu yuRl
For production of powder of aluminium & tin, method is used.

66. | A. Reduction B. Electrolysis
C. Atomization D. Mechanical pulverization
AR wA lototl Wease(l otz il duzgia B.

. | A | dlssast B sdsgleusdln
C. | RAdusRaet D. Bellsel ucapAS8R et

67. | Which of the following is not an advantage of powder Metallurgy?
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A. | Low capital cost B. Production of porous parts
C. Good dimensional accuracy D. No wastage of material
o{lAsttHiell 58 olltct Was Aexlell Gualolldl W Asoude ol2fl?
sa. | A | ¥dled Budey olly yeau B. | Balq euololl vlottete
C el uReuiell ddlec D. 1 ydlflacsll oous «él.
Polymerisation is associate with
68. | A. Stainless steel B. Cast iron
C. Silver D. Thermosetting plastic
WellHAB8B et Aoll A8 AsouAel &2
s¢. | A | Ra@Qu ¥l B. | sre wuelet
C | Re? AR vl s
Which of the following is non-destructive test
69. | A Tensile test B. Impact test
C. Cupping test D. Radio graphy test
oll Aettiell g3 ollot Sresdla udlae B 2
se. | A | Blael udlael B. | auuid udlate
C. | slat udlaal Do 2320014l udlate
The Percentage of Chromium in Stainless Steel Alloy
70. [A. [10% B. | 12%
C. |18% D. |20%
wodu ¥Vl Ul slllade yuug 3o sla ®
90. A |10 4 B. lqry
C lacy D. 120
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